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Please make sure that the printed pages in this
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The Code No. and Set on the right side of the
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(2) 4205/(Set : A)

° ZYF JIT FH FAY [0GT J@ BT H W, JoT B FHE
ST [

Before beginning to answer a question, its Serial

Number must be written.
o FTT-YRawl & &= F @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAARTT FHF o de T Al o
SFEATAR & [d ST fr@r Fav 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gdereff 1T T To FIT-UF UV Sa9T @)

Candidates must write their Roll Number on the

question paper.

° ZYF g9l % ¥ &7 @ @ I8 GAET & o [ FITT
g7 7 @& & Y # Iy 54 a9 F #HE A a@r
@B TEI AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4205/(Set : A)
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(3) 4205/(Set : A)
G &3 -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) TGS G971 % TEl ey [E)
Write the correct option in objective type
questions.

(iii) §F T qrT FT F STeAE [AET T ATET 81

Internal choice has been provided in long
answer type questions.

(iv) FAF F97 B 3% 30D TH7 0T T &7

Marks of each question are indicated against it.

gus -
SECTION - A [ Marks : 20
(e fomr)
(Physics)
1. STHI & CT e &l &, T & 1
(A) EET |
(B) WU €
(C) fagger &
(D) oTYaaH &
4205/(Set : A) P.T.O.
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(4) 4205/(Set : A)

The blue colour of sky is due to :

(A)
(B)
(C)

(D)

Reflection of light
Scattering of light
Dispersion of light

Refraction of light

2. f=fiieg & @ B9 SguEn o A & SERT 78

g7
(A)
(B)
(C)

(D)

]
SES|

UIEEEK|

SIREIREEE|

EIENl

Which of the following is not an example of a

biomass energy source ?

(A)
(B)
(C)

(D)
4205/(Set :

Wood
Gobar gas
Nuclear energy

Coal
A)

Downloaded from cclchapter.com



(5) 4205/(Set : A)
3. APMA dE e | 6 T & gl R e 7 1

What type/nature of image is formed by the eye

lens at retina ?

4. TEH AR F GRY 5T BRA WA H@r 2?1

On what factors the resistance of conductor

depends ?

5. Sl a9 @ 7 e € ? 9899 § aue it 2

What are the disadvantages of fossil fuel ?

Explain in brief.

6. 20,3Q,TM 6Q% N ED @l [Bd YR T
HUT & HANN & A TR 4 Q7 2

How can three resistors of resistance 2 Q, 3 Q,
and 6 Q be connected to give a total resistance

of 4Q7

7. S % A9 T G@IT & & e & 7 2

What are the advantages of water stored in the

ground ?

4205/(Set : A) P.T.O.

Downloaded from cclchapter.com



(6) 4205/(Set : A)

8. (a) "W dg ¥ 1.50 oMUacHi® & B H e A
Y9 A B BE H T B oG o T 7
fata & ueIer @ T 3 x 108 ms™! Bl 2

Light enters from air to glass having
refractive index 1.50. What is the speed of
light in glass ? The speed of light in vacuum

is 3x 108 ms™L.

(b) #E T IO a9 & Y& BHH (F) TN 2 F & 9
Rer &1 39 ag] & ST & Refd, A5 @@ S
& @I SR 2

An object is situated at a position in
between the main focus (F) and 2 F of a
Convex lens. Draw the ray diagram showing
the position, size and nature of image

formed.

9. Tk ARW TihY fhdl faEd o &1 g0 s
qur FrEf W i g g A FI T ! 6
Explain the underlying principle and working of

an electric generator by drawing a labelled

diagram. What is the function of brushes ?

4205/(Set : A)
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(7) 4205/(Set : A)
g
OR

(@) TR PT IH-g&d g @@ B 7 |EEmEy 2

What is the Fleming's Left-Hand Rule ?
Explain.

(b) g b RO A v A ARWE B ? AW
4 ORA g 9 # R 79 &E H OwHT ®
afRoT-ged I @1 9 W § 7 awenEy 4

What do you mean by electromagnetic
induction ? Explain the use of Fleming's
right-hand rule in finding the direction of

current induced in the conductor.

qrg - §
SECTION - B [ Marks : 19
(v fomm)
(Chemistry)

10. =1 vaEfe e & fF-a1 ofeRe Swiyd &
W2 ? 1
CuO + Hy — Cu+ H,0

4205/(Set : A) P.T.O.
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(8) 4205/(Set : A)

Which reactant is Oxidized in the following
chemical reaction ?

CuO + Hy — Cu+ H,0

11. 9% 99 oF fae@9 A, B @ C &, S pH & 99
HAM: 4, 7 TG 10 31 SWE ¥ F HH-A1 AwaT o=
BT ? 1

You have three solutions A, B and C whose pH
value is 4, 7 and 10 respectively. Out of above

solutions, which solution is acidic ?

12. @ M, MCl G arll Uh IS Sl 81 fed arel
T g8 qd M 9 [ @ & Sad erm ¢ 1

A)  Si (B) Al
(C) Na (D) Mg

Element M forms a Chloride with formula MCI.
Element M would be most likely in the same

group of Periodic table as :
(A) Si (B) Al
(C) Na (D) Mg

4205/(Set : A)
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(9) 4205/(Set : A)

13. faeemge orfufkametl @ oy o 9@ € ? 0% SEe
(Tt BT SR 2

What do you mean by displacement reactions ?

Give one example (Chemical equation).

14. ST Ae1 B TEENE G F 5 ¢ 3EH i Ry @
TR FHIEHT i) 2

What is chemical formula of baking soda ? Give

chemical equation used in its preparation.

15. g AEd el H, 98 § FW § T oW W
A W3S 68 SR URafkid skl & ¢ &R [rag 2

In modern periodic table how does atomic size
vary on moving down top to bottom in a group ?

Write its reason.

16. (i) &gl & ag & & & A F|1 oA © ! §TF
3E Ty 2

What happens when metals are burnt in

air ? Give one example.

4205/(Set : A) P.T.O.
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(10) 4205/(Set : A)
(i) ergell & R oged URwRel W R e

ferfem 2
Write short note on electrolytic refining of
metals.

17. (i) fAfaiad ARee #1 AT P © 1x3=3
(@@ CH3-Cl

o}
(b) CH3;-CH, —B— OH
(o CHz-CH,-CH,-OH
Write the names of following compounds :
(@@ CH3-Cl

o

(b) CH; -CH, —|C|— OH
(0 CH3z-CH,-CH,-OH

(i) UIHTEH oFd T | T U STfhar e © 7

S qHiwT R ¢ 1x3=3
(@) Na,COj
(b) NaOH

(c) CH,CH,OH 3T %l JuRefq H

4205/(Set : A)
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(1) 4205/(Set : A)

How ethanoic acid react with the following ?

Give chemical equation :

(@ Na,COs

(b) NaOH

(c) CH3CH,OH in presence of acid

AYAT
OR

e AREH & FEfrad O & See died avie

EﬁﬁﬂQI 2x3=6
(i)  SiferdeRRoT STf¥ishaT
(i) Hpae SAfisHa

(iif) Sfereamae SAfdishaT

Explain the following Properties of Carbon
compounds with example :

(i) Oxidation reaction

(i) Addition reaction

(iii) Substitution reaction

4205/(Set : A) P.T.O.
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(12) 4205/(Set : A)
s -9
SECTION -C [ Marks : 21
(cftr forrr)

(Life Science)

18. f=foad & @ H9-T1 daw o9 F=ieeig el @
e © 7 1

(A) wREH, THST, TRl

(B) €4, W<, ol & (o
(C) e, 9, o & (O
(D) I9SI, Hid, B ® BAD

Which of the following is group of only

biodegradable substances ?

(A) Plastic, Leather, Wood

(B) Grass, Plastic, Banana Peel
(C) Wood, Grass, Banana Peel

(D) Leather, Glass, Banana Peel

4205/(Set : A)
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(13) 4205/(Set : A)

19. WFFEH & dolis H X Jhe M |/EET 8 : 1
(A)  TEEIIHR F
(B) THEAREA &l
(C) YIS &l
(D) ST H

The growth of pollen tube towards ovule is an

example of :
(A) Geotropism
(B) Chemotropism
(C) Phototropism
(D) Hydrotropism
20. M WA g H -G @Rl § 9= B s @
T & & & 7 1

Name the solar radiation from which the surface

of earth is shielded by ozone layer.

4205/(Set : A) P.T.O.

Downloaded from cclchapter.com



21.

22.

23.

24.

25.

(14) 4205/(Set : A)
e ¥ AU g g9 B UihAT HT 1 AW 8 ° 1

What is the name of the process of formation of

new individual in Amoeba ?

g S ifad & aren T B Fr M R A

What is the name of the gland secreting
adrenaline hormone ?

g guT & 1 B § 7 2
What is function of testis in man ?

T wd faicilt g & A ¥ 7 el A 2

What are unisexual and bisexual flowers ? Give

examples.

uHe ARAsh § AgAr 99T SFYARGS SR T S A
P o 2

What is the function of medulla and cerebellum

in human brain ?

4205/(Set : A)
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(15) 4205/(Set : A)

26. T SMHR & &9 (SMEl &oT) H FUar el (ST
TAEOT) % T BT HRAMET T 4
Rounded seeds (dominant trait) were crossed
with wrinkled seeds (recessive trait).

(i) 999 Hald & siell B ST F1 BRM °
What type of seeds will be produced in F,
generation ?

(i) fadE dafq § T 8RO fhae gfse i
TMRATbIX BT 7
By self-pollination in F; seeds, what
percentage of seeds will be rounded shape
in F, generation ?

T @fed earen i)

Explain with diagram.

27. MG IS G H AR BE S, g S @
gfshaT T a9 il 6
Draw a well labelled diagram of excretory system
and explain the process of urine formation in
human being.

4205/(Set : A) P.T.O.
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(16) 4205/(Set : A)

AYAT
OR

Tedl ¥ IS H aUH BT 6

Describe excretion in plants.

4205/(Set : A)
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°* TW TT BT [F 7 TT9H 7 FRT §T 16 T
797 27 81
Please make sure that the printed pages in this
question paper are 16 in number and it contains 27

questions.

° U97-YF 7 alfe &1 @ Y 79 T4 FE T T @ #H
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The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4205/(Set : B)

° ZYF J9T FH FAV [0GT J& BT H W, JoT B HHE
ST [

Before beginning to answer a question, its Serial

Number must be written.
o FTT-YRawl & &= F @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH F JAARTT FHF o de T Al o
SFEATAR & [d ST fr@r Fav 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gdereff 1T T To FIT-UF UV Sa9T @)

Candidates must write their Roll Number on the

question paper.

° ZYF g9l % ¥ &7 @ @ I8 GAET & o [ FITT
g7 7 7@ & Y # Iy 59 a9 F #HE A @@
@B TEI AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4205/(Set : B)
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(3) 4205/(Set : B)
G (397 -

General Instructions :

(i) & Fo7 A &1
All questions are compulsory.

(ii) TGS G971 % TEl ey [E)
Write the correct option in objective type
questions.

(iii) §F T qrT FT F STeAE [AET T ATET 81

Internal choice has been provided in long
answer type questions.

(iv) FAF F97 & 3% 30D TH7 0T T &7

Marks of each question are indicated against it.

@ oe —
SECTION - A [ Marks : 20
(A fme)

(Physics)

1. QO & &9 g4 & W A e s 4 REE dd@

g7 1
(A) S (B) faerqer
(C) 3T (D) YEas

4205/(Set : B) P.T.O.
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(4) 4205/(Set : B)
Colour of the sun at sunrise is red due to :
(A) Scattering (B) Dispersion

(C) Refraction (D) Reflection

2. 79 & ¥ B SqqET Sel Od B IS JE@e ! 1

(A) B

(B) R ™
(C) hIgell

(D) B St

Which of the following is not an example of bio-

mass energy source ?

(A) Wood
(B) Gobar gas
(C) Coal

(D) Nuclear energy

3. uRaie & F &Y g ? 1

What is the function of iris ?

4205/(Set : B)
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(5) 4205/(Set : B)
4. G aws & gy T e W R & g 2 1

On what factors does the resistance of conductor

depends ?

5. Tl & ofESl ©fid H & YT BN © ° 2

What are the properties of a good source of

energy ?

6. H13 fgd qeX 220 V & fgd &id | 5.0 A g €17
ol 81 HIEY @ ik iR T qer 2 g9 H HieR

BN SUYERS el qRafA BT 2

An electric motor takes 5.0 A from 220 V line.
Determine the power of the motor and energy

consumed in 2 hour.

7. S99 AT H SN $ U O YR & 'R’ & vy ®
dl efaed Gl B 2

FH ST (Reduce), gq: =R (Recycle) AR g
SUGRT (Reuse)l JF: STGRT H I IR | &

4205/(Set : B) P.T.O.
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(6) 4205/(Set : B)

You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reuse in

detail.

8. (a) B3 ¥ AW U & FhaT &= (C) W Rad B
ECIEEIE AR A 2

An object is placed at the centre of
curvature (C) of a concave mirror. Draw the
ray diagram to depict the position, size and

nature of image formed.
(b) I @ & BHA T A BT (TR &
—2.0D 7l ¥ 58 TR & d9 & 7 2

Find the focal length of a lens of power

—2.0 D. What type of lens in this ?

4205/(Set : B)
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(7) 4205/(Set : B)

9. TMilha ARW TiEehY fhdl fOEd o &1 g0 s
qur FrEf we i e g A FEI T ! 6

Explain the underlying principle and working of
an electric generator by drawing a labelled

diagram. What is the function of brushes ?

AYAT
OR

(a) URHATCIET | STl FT I & ? TH YR
4 yeied [Ggd O & HRO FEHI & hHl
SRRET T IRATTE & ST WSt Je
SIS 4

What is a solenoid ? Draw the magnetic
lines of force around the current carrying

solenoid. Write the use of solenoid.
(b) TR & Sfer-ae fEw @ & ? a9 2
What is the Fleming's Right-Hand Rule ?

Explain.

4205/(Set : B) P.T.O.

Downloaded from cclchapter.com



(8) 4205/(Set : B)
gue - §
SECTION - B [ Marks : 19
(e )
(Chemistry)

10. =1 Tomte ofufer & d9-a1 Sifvene ov=ERd &

11.

wWe? 1

CuO + H, — Cu+ H,0

Which reactant is reduced in the following

chemical reaction ?

CuO + H, — Cu+ H,0

Y% 99 O fowET A, B W§ C &, e pH & 99
HAM: 3, 7 UG O B SWEd ¥ 4 HH-A1 gy &g
BT ? 1

You have three solutions A, B and C, whose pH
value is 3, 7 and 9 respectively. Out of above

solutions, which solution is basic ?

4205/(Set : B)
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(9) 4205/(Set : B)

12. T M, MCL, G drel UF FRES 411 ol Aad qrReft

T g8 9 M H9ad: 69 qE & S 8 ? 1
(A) St (B) Al
(C) Na D) Mg

Element M forms a Chloride with formula MCI, .
Element M would be most likely in the same

group of periodic table as :
(A) St (B) Al
(C) Na (D) Mg
13. fafqees sifhnell & o9 # wHed € 7 g@ S

(Tt EHiBTen) dfem 5

What do you mean by double displacement

reactions ? Give one example (chemical equation).

4205/(Set : B) P.T.O.
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(10) 4205/(Set : B)

14. oo o0 &1 TEEnE G 7§ 7 gq e i @
EES FHIBT i) 2

What is chemical formula of bleaching powder ?

Give chemical equation used in its preparation.

15. YN A RN & A H g § aff ok o W
o 7 b8 SR aRafid 2 @ P &RoT g 2

In modern periodic table, how does the metallic
character vary in a period on moving from left to

right in a period ? Write its reason.

16. (i) orgell & or<l & JAERAT X & 1 & © 7
g% SATEX AT 2

What happens when metals react with

acids ? Give one example.
(i) afhgar Aol &1 Sarever afed auie @i 2

Explain the reactivity series with example.

4205/(Set : B)
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17. (i)

(i)

(11) 4205/(Set : B)
=1 ffent &1 AR HifeTT 1x3=3

O
I
(a) CHs;-C-OH

(b) CHs—-CH,-ClI
(c) CHs-CH,-OH

Write the names of following compounds :

O
I
(a) CH;-C-OH

(b) CHs—-CH, -ClI
() CHs-CH,-OH
TOeg Ao g B B 7 SRR % 9

AR 3
What is homologous series ? Explain with
example.

AYAT

OR

YTl qHS TishdT i BRaaie & quie i 6

Explain the mechanism of cleaning action of

soap.

4205/(Set : B) P.T.O.
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(12) 4205/(Set : B)

g -9
SECTION -C [ Marks : 21

(S fosm)

(Life Science)

18. =fifad & & H9-T daw ong M=IBCig &Rl &
e © 7 1

(A) TR, wiies, afwn

(B) Wik, HIH, Thel

(C) UcgHIEd &l feeaT, wiites, Hid &l S
(D) ufEl, o9, <iesd

Which of the following is a group of only non-

biodegradable substances ?

(A) Aluminium, Plastic, Leaves

(B) Plastic, Grass, Wood

(C) Aluminium Can, Plastic, Glass Bottle

(D) Leaves, Grass, Plastic

4205/(Set : B)
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(13) 4205/(Set : B)
19. fr=iicmad & & fees ror Y8t @ ofvel JRem S § 7 f
(A)  HETHERRT
(B) it
(C) e
(D) Ufsafaes o

Wilting of leaves in plants is due to effect of

which of the following ?
(A) Cytokinin
(B) Auxin
(C) Gibberellin
(D) Abscissic Acid
20. JASIE H A1 § RRET H1 HROT HIF-81 Heaft TEEH
g7 1

Which synthetic chemical is responsible for

depletion of ozone layer ?

21. JToeHa [ #ed & ° 1

What is Regeneration ?

4205/(Set : B) P.T.O.
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22.

23.

24.

25.

26.

(14) 4205/(Set : B)
AE 59 N & v & fu ofasg® § ? 1

Iodine is necessary for the synthesis of which

hormone ?

Mg § ST & 1 Y 8 7 2

What is the function of ovary in human beings ?

FIeh Yad= F1 B ? THH 1 Tod € 7 2

What is vegetative propagation ? How is it useful ?

yfdedt o9 F1 & ? 99 Hadl o HINE BT B
g7 2

What is reflex arc ? What is the function of

sensory neuron in reflex arc ?

Hed & M ogaR & @@l g (T &t &) @t
(FleR 7 9o 4W) # @ darga B odRE e
Eﬁml 4

As per Mendel's Law, describe the independent
assortment of two separate traits (rounded and
green seeds) with (wrinkled and yellow seeds)

along with diagram.

4205/(Set : B)
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(15) 4205/(Set : B)

27. () TR ¥ WNF H WERY e 9 9N N
Q?‘i- E%Tv RS aﬁT % ? 1+1+4

By which part of plant translocation of

food takes place ? Where is the food

translocated ?

(i) UG H AN & TN H SR # fdgERer

ity
Explain the process of translocation of food
in plants.

AYAT

OR

() "9 # JficH g FET SESRES H IRaEd
&9 B ¢ ¢ foengEes ey 442

How does transport of oxygen and carbon
dioxide takes place in human beings ?

Describe in detail.

4205/(Set : B) P.T.O.
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(16) 4205/(Set : B)

(i) 969 & fOQ SifRde I B & Qe § S
gt @ STve WA ofid B9 ATE § 7

Why terrestrial organisms have advantage
over aquatic organisms with regard to

obtaining oxygen for respiration ?

4205/(Set : B)
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CLASS : 10th (Secondary) Code No. 4205
Series : Sec. M/2019

Roll No. SET : C
SCIENCE
(Physics, Chemistry and Life Science)
(Academic/Open)
[ =l wd SISl wremy |

[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

G797 : 3 g2 | [ §% : 60
Time allowed : 3 hours | [ Maximum Marks : 60

° U T FX T & 59 JeT-99 7 JRT §T 16 T F9T
27 &

Please make sure that the printed pages in this
question paper are 16 in number and it contains 27

questions.

» y97-77 4 qlfe & @ v k7 T FS TEYT 7O G @
5 FC-Gieasl & JET-J9 7 [7q)
The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.

4205/(Set : C) P.T.O.

Downloaded from cclchapter.com



(2) 4205/(Set : C)

° ZYF JIT FH FAY [0GT J@ BT H e, JoT B HHE
ST [

Before beginning to answer a question, its Serial

Number must be written.
o FTT-YRawl & &= F @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAARTT FHF o de T A o
SFEATAR & [d ST fr@r Fav 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gdereff 1T T To FIT-UF UV Sa9T @)

Candidates must write their Roll Number on the

question paper.

° ZYF g9l % ¥ &7 @ @ I8 GAET & o [ FITT
g7 7 @& & Y # Iy 54 a9 F #HE A a@r
@B TEI AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4205/(Set : C)
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(3) 4205/(Set : C)
G &3 -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) TGS G971 % TEl ey [E)
Write the correct option in objective type
questions.

(iii) §F T qrT FT F STeAE [AET T ATET 81

Internal choice has been provided in long
answer type questions.

(iv) FAF F97 & 3% 30D TH7 0T T &7

Marks of each question are indicated against it.

gs —
SECTION - A [ Marks : 20
(A fsTT)

(Physics)

1. 799 75 B 9 W) G a5g &1 g a1, a8

K 1
(A) (B) gfeqed
(C) R (D)  gefe

4205/(Set : C) P.T.O.
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(4) 4205/(Set : C)

The human eye forms the image of an object at

its
(A) Cornea (B) Retina
(C) Iris (D) Pupil

2. 7= 4 @ B9 W A H waits qen § aR
St B 7 1
(A)  HES
(B) FT SREAFRS

(C) TR ITHES

(D) EREH

Which of the following gas is found maximum in

biogas ?

(A) Methane

(B) Carbon dioxide

(C) Hydrogen sulphide
(D) Hydrogen

4205/(Set : C)
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3. U @ 59 ufges & dR aR feufenm ¥ ? 1

Which phenomenon of light is responsible for

twinkling of stars ?

4. fogd I qur foEd 3Rl & A9 oede g d91g &
T SR R Beg & & 99 S § 7 1

Why are coils of an electric toaster and electric
irons made of an alloy rather than a pure

metal ?

5. Sigiedl d99 #l el & ? 989§ quie @i 2

What are the disadvantages of fossil fuel ?

Explain in brief.

6. JE IWET f% oMU 6 Q U & aF Sfcigsw & fFq
TR TN A o U G &l Ufae 4 Q 8 2

Show how you would connect three resistors,
each of resistance 6 Q. So that the combination

has a resistance of 4 Q.

4205/(Set : C) P.T.O.
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7. 2 919 3 FEio @ guiie 9 w@ieel g 39
o g ? 2

How the constructions of large dams cause

social and environmental problems ?

8. (a) 9 @ &Har ¥ A & ¢ R o9 @
SE3eX (1D) HHAT I GRMNG it 2

What is the power of a lens ? Define one

Diopter (1D ) power of a lens.

(b) W TE II@ T B TEA Bibd F qA FHID
% (0) % 797 Red 21 9@ a%] & St &l
Regfer, TES TSPl ®I @A & SR 39AZY 2

An object is placed between the main focus
(F) and the optical centre (O) of a convex
lens. Draw a ray diagram showing the
position, size and nature of the image

formed.
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9. foEgd e ® THithd RY WiEW Fab &G qu

HERE W Hiom fEgd deX § Qe awg & O
e & 7 6

Draw labelled diagram of an electric motor.
Explain its principle and working. What is the
function of a split ring in an electric motor ?

AYAT
OR

(@) T & F ARWE & ¢ fHEd Sumen &
Ul T S § 7 2

What do you mean by earthing ? Why

should electrical appliances be earthed ?

(b) URATERT & STUHT o1 TuE & ? U R
4 yaied fOEd 4N % HRO S guhid & Rl
IR HifoW| IR & IUFNT gy 4

What is a solenoid ? Draw the magnetic
field around a current carrying solenoid.

Write down the use of a solenoid.
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s - §
SECTION - B [ Marks : 19
(v fam)
(Chemistry)

10. =1 vamfye e & f9-a1 ofeRs Swid &

11.

wWe? 1

ZnO+ C - Zn+CO
Which reactant is oxidized in the following

chemical reaction ?

ZnO+ C - Zn+CO
U I I faweT A, B @ C &, 9 pH &1 99
AL 2, 7T 11 81 IUUHT F § HIA-A1 e JaEA
B 7 1
You have three solutions A, B and C whose pH

value is 2, 7 and 11 respectively. Out of above

solutions, which solution is neutral ?
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12. &4 M, MCl, ¥ 9 Th FIES S 8 IAEd
RO & 9 O M H9ed: [hE 9 & o e 7

(A) St (B) Al
(C) Na (D) Mg

Element M forms a Chloride with formula MCl,.
Element M would be most likely in the same

group of periodic table as :
(A) Si (B) Al
(C) Na (D) Mg
13. €O STBRIel & oY F1 ¥ & ! % SaX
(ramate |t df) 2

What do you mean by combination reactions ?

Give one example (chemical equation).

14. 99 & Tel F TEENG G F0 & 7 sE e i
T THED FHIBIT & 2

What is the chemical formula of washing soda ?

Give chemical equation used in its preparation.
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15. Mgfeh Ed G 7 9 § HW § A1 I ) i

o7 fohd JhR @ gRafid ir & ? HRel faka) 2

In modern periodic table, how does metallic
character vary on moving down top to bottom in

a group ? Write its reasons.

16. () oGl & S & @Y ANEET HE W T Bl
g ? g SaE A 2

What happens when metals react with

water ? Give one example.

(i) offe Tp9 F1 & ? 39 TRH B TOEND THHT
it 2

What is thermit process ? Give chemical

equation of this process.

17. (i) = 9FER @1 AR R 1x3=3

(a) CHjz;-CH =CH,
(b) CHsy—-CH, - Br

O
() CHjz;-CH, - C-H

4205/(Set : C)
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Write the names of following compounds :
(@@ CH3;-CH =CH,
(b) CH3;-CH, - Br
o
() CH3z-CH, - H— H

(i) TIET H @ erfifear R yeR & B 7
RS g9 i 1x3=3

How ethanol reacts with the following ?
Give chemical reactions.

(a) OTIHA U ST

Acidified potassium dichromate
(b) T |E H,S0,

Hot concentrated H,SO,
(c) WA (Na)

Sodium (Na)

3TeE
OR

e AR B AT TSI B ORI ST B 6

Explain in detail the nomenclature of Carbon
compounds.

4205/(Set : C) P.T.O.

Downloaded from cclchapter.com



(12) 4205/(Set : C)
s -9
SECTION -C [ Marks : 21
(cftr forrr)

(Life Science)

18. @I & T U4 TNl bl IURYTT H b qardl
q FEh Gl H FH 9 SiEl B Fed § 1

(A)  STIHSIH

(B) SEH
(C) IR
(D) HiEER™

The organisms which make organic compounds
from inorganic substances using energy of sun

and in the presence of chlorophyll are called :
(A) Decomposers

(B) Producers

(C) Herbivores

(D) Carnivores
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19. AR AT HA-T BT & 7 1
(A) TRs®
(B) SmMf=®
(C) ifcrereit

(D) iRl T FfEs® Sl
'Salivation' is a type of process :
(A) Voluntary

(B) Involuntary

(C) Reflex Action

(D) Reflex Action and Involuntary Both

20. TF WG TRay & &8 Y, g G Hoat & fhae
i @ et § gRaiid & & 7 1

What percentage of solar energy captured by
green plants is converted into food energy in a

terrestrial ecosystem ?
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21.

22.

23.

24.

(14) 4205/(Set : C)

fg Silg § Sgfa@Ued gR Th Siq Uh @ e Gl
Fifrme F e & o § 7 1

Which organism divides into many daughter

cells through multiple fission ?
U SRR 3 & &R B 9% § Vb drl S R
1 AW 5 ? 1

Name the hormone responsible for limiting the

sugar level in blood in human beings.

PIET S 9T B a9 J URade faRgT S dgdt 9
qefhal At ¥ THeEe aa 2 2

Write those changes of puberty that are common

to girls and boys.

W7 feherr e @ e yeR R B 7 2

What is difference between pollination and

fertilization ?
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25. B398 H WY & Ui AIPRAT B TR 2

Explain the process of response to touch in

sensitive plant.

26. 3 HI-4 TP & FH I T G99 @O a9 A
Al g gufte § 9% gl 8 ¢ 4

What are different ways in which individuals with

a particular trait may increase in population ?

27. NGt § T H g fhg 9 Z A Sar g ? qeEt H
S T G TGOl % g8 @l UihdT H aUi HITT 6

What part of plant transports water ? Explain

the movement of water and minerals in plants.

AYAT
OR
(i) @R SR SRR § & o= © 7 2
What is difference between lymph and
blood ?
4205/(Set : C) P.T.O.
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(i) AFg H SAfedoM qur FE SEelieaEs & uiRded
g MM & IaemEe Mee EN alR]
REAIT S AR i) 4

Explain the process of double circulation
with the help of schematic representation of
oxygen and carbon dioxide transport in

human beings.
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° ZYF J9T FH FAV [0GT J& BT H W, JoT B HHE
ST [

Before beginning to answer a question, its Serial

Number must be written.
o FTT-YRawl & &= F @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH F JAARTT FHF o de T Al o
SFEATAR & [d ST fr@r Fav 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gdereff 1T T To FIT-UF UV Sa9T @)

Candidates must write their Roll Number on the

question paper.

° ZYF g9l % ¥ &7 @ @ I8 GAET & o [ FITT
g7 7 @& & Y # Iy 54 a9 F #HE A a@r
@B TEI AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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G &3 -
General Instructions :
(i) & Fo7 A &1
All questions are compulsory.
(ii) TGS G971 % TEl ey [E)
Write the correct option in objective type
questions.

(iii) §F T qrT FT F STeAE [AET T ATET 81

Internal choice has been provided in long
answer type questions.

(iv) FAF F97 & 3% 30D TH7 0T T &7

Marks of each question are indicated against it.

gug —
SECTION - A [ Marks : 20
(A fsT)
(Physics)
1. A0M ghieg o fRefad gad & J=&F &R 8, T
& 1
(A)  TEEH
(B) STudcH
(C) foEa=
(D) I
4205/(Set : D) P.T.O.
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The main reason behind the advanced sunrise

and delayed sunsetis ................ of light.
(A) Reflection

(B) Refraction

(C) Deviation

(D) Scattering

2. fy=fifeg & § @ Sg9En S T B ST T8

g7 1
(A) T®

(B) e} ™

(C) ehIE FHt

(D) rT

Which of the following is not an example of bio-

mass energy source ?
(A) Wood

(B) Gobar gas

(C) Nuclear energy

(D) Coal
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3. TS ST ad Sebist &l T bl 9l | fqwe &Y adl
Bl R 3 at T # wH ¥ ey 1

The prism split the incident white light into a
band of colours. Write these colours name in

Sequence.

4. TEH AR H O 5T BRA W AR @ ? o

On what factors, the resistance of a conductor

depends ?

5. Tl % ofesl ©fid F F@ YT BN © ° 2

What are the properties of a good source of

energy ?

6. 2Q,3QTM 6 Q & UagR H FE YER FIAR
fopar ST 6 G B g JRg 1Q B S 7 2

How can three resistors of resistances 2 Q, 3 Q
and 6 Q be connected to give a total resistance

of1Q7?
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7. AN QO B T=H & 3 A9 JER & R & fawg J

o rEed G EN 2

F IR (Reduce), J: T (Recycle) A TH:
SYANT (Reuse)l HH IWN & &R & o B

You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reduce in

detail.

8. (a) I3 I& AW YU % IhAT d& (C) T BIhd F
% A Red 31 39 a%g & A @ R, @
a7 Yl 1 == TEY 2
An object is situated between the centre of
curvature (C) and focus (F) of a concave
mirror. Draw a ray diagram of the position,

size and nature of image.
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(b) I @ H BHA U FA BT (TR &
—2.0D? 7€ 59 YBR & A & ? 2

Find the focal length of a lens of power

—2.0 D. What type of lens is this ?

9. Hifhd @ Eie &Y fhdll faga o &l g0
WWWWI dcﬁ@ﬁﬂﬁao%qﬁﬁ
o g 7 6
Explain the underlying principle and working of
an electric generator by drawing a labelled

diagram. What are the advantages of ac over

dc ?
ST
OR
(@) gHUHA (Earthing) § 1 sfmE 8 ¢ fagd
SUHITN I EUlhT FT a1 ST & 7 2

What do you mean by earthing ? Why
should the electrical appliances be

earthed ?
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(b) uRfereRr & omueRr w SIRME B ? Uh OGR!
4 yaied fOEd 4N % HROT S~ guhid & Rl
ARG Ty aRTferRr & IwA off fofgm 4

What do you mean by a solenoid ? Draw the
magnetic field lines around a current
carrying solenoid. Write down the use of a

solenoid.
que - §
SECTION - B [ Marks : 19
(e )
(Chemistry)

10. =1 wamEte oifufer & H9-a1 iR oERd &
W ? 1

ZnO+ C = Zn + CO

Which reactant is reduced in the following

chemical reaction ?

ZnO+ C - Zn+CO
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11. 3M9% 99 49 fae@= A, B @1 C 8, R& pH &1 99

HAM: 3, 7 Td 9 B SUNE H ¥ BN-41 G o
BN ? 1
You have three solutions A, B and C, whose pH

value is 3, 7 and 9 respectively. Out of above

solutions, which solution is acidic ?

12. T M, MCL; 3 a0 UF FgS S ol e arel
T g8 qwd M 9ed: [ T & g enm ? 1
(A) S (B) Al
(€) Na (D) Mg
Element M forms a chloride with formula MCl;.

Element M would be most likely in the same

group of periodic table as :

(A) St (B) Al
(C) Na (D) Mg
4205/(Set : D) P.T.O.

Downloaded from cclchapter.com



13.

14,

15.

16.

(10) 4205/(Set : D)
fie (oTqae) siffparstt & ofT #&1 @& & ¢! 0%
SR (TS FHIBTeT) AR 2
What do you mean by decomposition reactions ?

Give one example (chemical equation).

FAR-ER AT &1 Bl & 7 39 9Bk &l TEEeS
gt STy 2

What is Chlor-alkali process ? Give chemical

reaction for the process.

YT e gl & ofed H S | aEf iR S W
AT |3 68 SR URafid skl & ¢ &R frag 2

In modern periodic table, how does the atomic
size vary in a period on moving from left to

right ? Write its reason.

() g9 oig offeFEs & S | Hiad § #& el
T ? g% e AR 2
What happens when water soluble metal

oxides are dissolved in water ? Give one

example.
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(i) oTEN® AR F TR S H BT & 7 2

Why do ionic compounds have high melting

point ?

17. () [ AR & TEHT H 1x3=3
(a) CHy-C=CH
(b) CHz-OH

0]
]
() CHz-C—CH,

Write the names of following compounds :
(@@ CH3;-C=CH
(b) CH;-OH

0]
I
() CH;-C—CH,

(i) U= (CsHyp) & O dXaHe doEdal & e

it 3
Draw all the structural isomers of pentane
(CsHyp) -
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ST

OR
frer ufharelt @& wEmte fie GfRa aoiF
FIfoTT 2x3=6

Explain the following processes with help of
chemical reactions :

() CEdE
Esterification
(i) g
Saponification
(ili) BTGB
Hydrogenation
s -9
SECTION -C [ Marks : 21
(cftr fo)

(Life Science)

18. I Siig I SAfed Fraieh Yarel B G SThEeh Yaren o

o Y e & fem 39§ 1
(A) IUED (B) STUHNIH
(C) MR (D) wiERN
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The organisms which break down complex
organic substances into simple inorganic

substances and mix them in the soil :
(A) Producers (B) Decomposers

(C) Herbivores (D) Carnivores

19. @ FREE B HF-A AR FECEA d G R

SIS 3l & 7 1
(A) IR B

(B)

(C) direpTer

(D) bt ar sifem far
Which part of neuron acquires information from

sensory organs ?

(A) Cell body
(B) Dendrite
(C) Axon

(D) Nerve ending
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20.

21.

22.

23.

24.

(14) 4205/(Set : D)

frel ot uildsr & o & Yare dea fhael fRsmer #
AT ? 1

In how many directions the energy flows in any

ecosystem ?

TSP B st W I ST JAT M H qri9e Aews
& TIOT | 39D U BN-T1 2 St ® ? 1

Growth of facial hair and deepening of voice are
symptoms of puberty in boys. Which hormone is

responsible for it ?

qw & S & HH-9 A & W Ao SR |
Ja FA 2 ? SHEX B 9 AN P AM JaARU 1

In a flower, pollen tube enters through pistil into
ovule. Name that part of pistil.

feguss qur SgEved § F W & 7 e died
SEE R 2

What is difference between binary fission and

multiple fission ? Explain with example.
fafr miftRas gl #F-8 € 7 o9 @R § g
N qEd © 7 2

What are different contraceptive methods ? How

are they important for reproductive health ?
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25, AR T A& Hd W B © ¢ 2

How are brain and spinal cord protected in

human body ?
26. TF A0 B a GG (BB) & HRCT TF The Gl A
A (bb) | HIEHM 4

A blue coloured flowering plant (BB) was crossed

with white coloured flowering plant (bb).
(i) oo Gl & Gl &1 G F B 7

What will be the colour of flowers in F;

generation ?
(i) @G Gl H WO BN OIS Hhe Gl &
qicIer =T 81 ?

What percentage of white flowered plants
will be in F, generation through self-

pollination of F, plants.
|l e S|

Explain with diagram.

27. WU QU F1 & ? A F GHT G H THH dl
FRAT FifoTY| 6

What is autotrophic nutrition ? Explain the

process of photosynthesis in plants.

4205/(Set : D) P.T.O.

Downloaded from cclchapter.com



(16) 4205/(Set : D)

ST

OR
fouHaST qier @ B 7 ordier § 9Nl & =l @ gt
Ui I 6

What is heterotrophic nutrition ? Explain the

process of nutrition in Amoeba with diagram.

4205/(Set : D)

Downloaded from cclchapter.com





